
DAILY BASIS ASSIGNMENT 

          DAY: WEDNESDAY                 CLASS: V             DATE:20.05.2020  

         

  SUBJECT: ENGLISH  

 

I. Choose the correct subjects from the following sentences.    

a)  My mother is a scientist. 

     (i) My mother 

    (ii) My 

   (iii) is a scientist 

   (iv) scientist 

b) I want to be an artist when I grow up. 

    (i) I 

   (ii) artist 

  (iii) grow up 

  (iv) I want 

c) All these books belong to my sister. 

    (i) All these 

   (ii) books 

  (iii) my sister 

  (iv) All these books 

 

2. Choose the correct predicates from the following sentences. 

a) Choreographers enjoy creating new dance steps. 

   (i) enjoy creating new dance steps 

  (ii) dance steps 

 (iii) Choreographers 

 (iv)  enjoy creating 



b) Butterflies love sitting on fruit blossoms. 

  (i) Butterflies 

 (ii) love sitting on the fruit blossoms 

(iii) blossoms 

(iv) sitting 

 

  SUBJECT: EVS  

 

I. CHOOSE THE CORRECT OPTION: 

1. Which of the following animals breathe through gills? 

a) snake  b) spider  c) crab   d) cockroach 

2. Which of the following animals breathe through spiracles? 

a) frog   b) lizard  c) crocodile                  d) cockroach 

3. Birds that swim in water have 

a) long legs  b) webbed feet               c) clawed feet               d) short legs 

4. Penguins live in the Polar Region. Which adaptation enable them to survive there? 

 a) They have a layer of fat under the skin.          b) They are black in colour. 

c) They are flightless birds.                                  d) They have a tail. 

5.Tortoise has few predators because of its _______. 

a) big feet           b) small eyes      c) hard shell     d) large mouth 

 

  SUBJECT: MATHS 

 

I. Choose the correct answers 

1. 2618973÷149 = …….. 

a) 13577    b) 1654      c) 17577      d) 16656 

2. The short form of 4,00,00,000+6,00,000+40,000+300+4 is 

a) 4,06,40,304     b) 4,00,00,304       c) 4,00,40,304     d) 4,60,40,304 

3. Place of value of 9 in 89,43,30,651 



a) 8 lakh      b) 9 crores    c) 9 thousand     d) 9 hundred 

4. The product of 55555 and 22 is 

a) 11,12,221     b) 12,11,210      c) 11,22,210    d) 12,22,210 

5. 9668808 - 2999998=……… 

a) 6668810     b) 1658422       c) 6668803       d)8866610 

 

  SUBJECT: COMPUTER  

I. Choose the best options from those given below: 

i) Those actions/operations that a computer performs is called 

(a)  Browsing  (b) Analyze                (c) Calculation          (d) Processing 

 

ii) An example of information is 

(a) Annual sales report of a company          (b) Monthly salary of an employee                

(c) A student’s roll number                         (d) All of these 

 

iii) An example of software is  

(a) floppy disc  (b)CD-ROM         (c)MS Paint               (d) All of these 

 

iv) A computer programmer is an example of  

(a) Firmware  (b) Liveware         (c) Developer             (d) Author 

 

v) Collection of facts and figures is called 

(a) Program  (b) Instruction              (c) Data              (d) Software 

 
 

विषय-ह िंदी 

स ी विकल्प को चुन कर लिखें- 

(1) सम्मान का वििोम शब्द  ै- 

(क) सम्मानित 

(ख)असम्माि 

(ग) अपमाि 

(घ)सम्मािीय 

(2) 'आिंखें खुिना 'मु ािरे का स ी अर्थ  ै- 

(क) होश आिा 



(ख) होश उड़िा 

(ग) बेहोश होिा 

(घ) सावधाि होिा 

(3)'नीड़ में चचडड़या ने अिंड ेहदए र्े '।इस िाक्य में नीड का अर्थ  ै- 

(क) पािी 

(ख) घोंसला 

(ग) झोपड़ी 

(घ) घर 

(4) सार् में पढ़ने िािे को क्या क ते  ैं? 

(क) सहयात्री 

(ख) ममत्र 

(ग) सहपाठी 

(घ) सहेली 

(5) इनमें से ननश्चयिाचक सिथनाम  ै- 

(क) कहाां 

(ख) कुछ 

(ग) ककस े

(घ) यह 
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